MATHS CLASS X Continuation.......

CHAPTER 5 ( QUADRATIC EQUATIONS IN ONE VARIABLE)

SOLVING A QUADRATIC EQUATION BY FORMULA

-b FVb?- 4ac is
2a ’
known as Quadratic formula. Here b? — 4ac is known as Discriminant ( D or A) of the

equation.

Let the given equation be ax? + bx + ¢ = 0, then the roots are x =

EXERCISE 5.3
Q2ii). Solve (2x +3)(3x —=2) +2 =0

=26x2+5x—4=0

Herea=6 ,b=5, c=—-4

—-b FVb2-4ac
We know x = —m8888 —
2a
_ -5 FV52-4.6.-4
- 2.6
_ -5 F11
T 12
_-16 6
T 12 12
=-1.333.. ,05

= —1.33,0.5 approx
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= 3x>—-18x+26=0
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=>x = 3.577 , 2.422 approx

=x = 3.58,2.42 nearest 2 decimal places

=>5x>+7x—-7=0
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=>x = —7.887,0.887 =x = —-7.89,0.89 nearest 2 decimal places.
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=>x = 1.243,-0.6433

=x = 1.24,—0.643 nearest 3 significant figure.



